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NOTES	
  SUPPLÉMENTAIRES	
  	
  

SUGGESTIONS	
  DE	
  MEILLEURES	
  PRATIQUES	
  	
  	
  

TEXTE	
  DE	
  LA	
  QUESTION	
  	
  

	
  
1.	
  NOTES	
  SUPPLÉMENTAIRES	
  :	
  
	
  
15	
  Novembre	
  2011	
  
	
  
1.1	
  Si	
  un	
  candidat	
  qui	
  possède	
  un	
  registre	
  d’opérations	
  existant	
  souhaitait	
  présenter	
  sa	
  candidature	
  
pour	
  l’opération	
  de	
  TLD	
  supplémentaires,	
  celui-­‐ci	
  pourra	
  diviser	
  le	
  coût	
  des	
  opérations	
  entre	
  tous	
  les	
  
registres	
  (normalement	
  dénommé	
  «	
  attribution	
  de	
  coûts	
  »)	
  –	
  ceux	
  actuellement	
  supportés	
  et	
  les	
  
nouveaux	
  coûts	
  proposés	
  par	
  le	
  candidat.	
  	
  Toutefois,	
  chaque	
  candidature	
  doit	
  «	
  être	
  autonome	
  ».	
  	
  Par	
  
exemple,	
  si	
  un	
  candidat	
  présentait	
  plusieurs	
  candidatures,	
  il	
  devrait	
  :	
  
	
  

• Décrire	
  la	
  méthode	
  d’attribution	
  des	
  coûts	
  pour	
  la	
  chaîne	
  gTLD	
  proposée	
  
• Dans	
  le	
  modèle	
  de	
  projections,	
  fournir	
  seulement	
  les	
  coûts	
  associés	
  à	
  l’opération	
  de	
  la	
  chaîne	
  

gTLD	
  proposée.	
  	
  
• Décrire	
  l’impact	
  des	
  coûts	
  attribués	
  si	
  une	
  autre	
  chaîne	
  faisant	
  l'objet	
  d'une	
  candidature	
  ne	
  

réussissait	
  pas	
  à	
  la	
  question	
  49	
  -­‐	
  pour	
  la	
  pire	
  éventualité.	
  
	
  

1.2	
  Les	
  candidats	
  peuvent	
  mentionner	
  comme	
  référence	
  l’étude	
  comparative	
  publiée	
  sur	
  
http://www.icann.org/en/topics/new-­‐gtlds/benchmarking-­‐report-­‐15feb10-­‐en.pdf	
  dans	
  leur	
  réponse	
  à	
  la	
  
question	
  47.	
  Toutefois,	
  les	
  réponses	
  basées	
  uniquement	
  dans	
  ce	
  rapport	
  ne	
  sont	
  pas	
  nécessairement	
  
suffisantes	
  pour	
  obtenir	
  les	
  deux	
  points.	
  Le	
  candidat	
  devrait	
  montrer	
  une	
  analyse	
  justifiant	
  ses	
  
estimations,	
  la	
  source	
  de	
  ses	
  exemples,	
  et	
  comment	
  les	
  exemples	
  utilisés	
  sont	
  comparables	
  à	
  la	
  
proposition	
  du	
  candidat.	
  	
  Beaucoup	
  de	
  registres	
  TLD	
  rendent	
  publiques	
  quelques	
  informations	
  
opérationnelles.	
  	
  L’ICANN	
  encourage	
  les	
  candidats	
  à	
  explorer	
  ces	
  ressources.	
  	
  
	
  
2.	
  SUGGESTIONS	
  DE	
  MEILLEURES	
  PRATIQUES	
  :	
  
	
  
15	
  Novembre	
  2011	
  
	
  
2.1	
  Les	
  candidats	
  devraient	
  lire	
  chaque	
  question	
  d’évaluation	
  dans	
  sa	
  totalité,	
  y	
  compris	
  les	
  notes,	
  les	
  
critères	
  et	
  le	
  texte	
  de	
  notation.	
  	
  La	
  réponse	
  devrait	
  aborder	
  tous	
  les	
  critères	
  spécifiés	
  et	
  devrait	
  inclure	
  
des	
  arguments	
  démontrant	
  une	
  compréhension	
  bien	
  approfondie	
  du	
  critère	
  (c'est-­‐à-­‐dire,	
  montrez	
  votre	
  
travail).	
  	
  



	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  

	
  
2.2	
  Si	
  des	
  acronymes	
  étaient	
  utilisés,	
  les	
  candidats	
  devraient	
  énoncer	
  clairement	
  leur	
  signification	
  lors	
  
de	
  la	
  première	
  mention,	
  même	
  si	
  ces	
  acronymes	
  représentent	
  des	
  termes/produits/services	
  usuels.	
  	
  
	
  
	
  
3.	
  TEXTE	
  DE	
  LA	
  QUESTION	
  :	
  
	
  
En	
  conjonction	
  avec	
  le	
  modèle	
  de	
  projections	
  financières,	
  veuillez	
  décrire	
  et	
  expliquer	
  :	
  
	
  

• les	
  coûts	
  opérationnels	
  et	
  les	
  dépenses	
  d’investissement	
  prévus	
  concernant	
  la	
  mise	
  en	
  place	
  et	
  
de	
  fonctionnement	
  du	
  registre	
  proposé.	
  

• toutes	
  les	
  fonctions	
  à	
  sous-­‐traiter,	
  tel	
  qu'indiqué	
  dans	
  la	
  section	
  «	
  coûts	
  »	
  du	
  modèle,	
  ainsi	
  que	
  
les	
  raisons	
  justifiant	
  la	
  sous-­‐traitance	
  ;	
  

• tous	
  les	
  écarts	
  entre	
  les	
  années	
  dans	
  toutes	
  les	
  catégories	
  des	
  coûts	
  prévus	
  ;	
  et	
  
• une	
  description	
  des	
  hypothèses	
  clé/de	
  base	
  y	
  compris	
  l'explication	
  des	
  coûts	
  fournie	
  dans	
  le	
  

modèle	
  de	
  projections.	
  	
  Ceci	
  peut	
  inclure	
  un	
  résumé	
  exécutif	
  ou	
  	
  un	
  résumé	
  du	
  résultat	
  des	
  
études,	
  les	
  données	
  de	
  référence	
  ou	
  autres	
  mesures	
  prises	
  pour	
  développer	
  les	
  réponses	
  et	
  
valider	
  les	
  hypothèses	
  émises.	
  

	
  
Comme	
  cela	
  est	
  décrit	
  dans	
  le	
  Guide	
  de	
  candidature,	
  les	
  informations	
  fournies	
  seront	
  examinées	
  à	
  la	
  
lumière	
  de	
  la	
  candidature	
  dans	
  son	
  ensemble	
  et	
  des	
  critères	
  d'évaluation.	
  Par	
  conséquent,	
  cette	
  
réponse	
  doit	
  être	
  conforme	
  aux	
  informations	
  fournies	
  dans	
  le	
  modèle	
  1	
  pour	
  :	
  	
  1)	
  maintenir	
  les	
  
opérations	
  de	
  registre,	
  2)	
  fournir	
  des	
  services	
  de	
  registre	
  décrits	
  ci-­‐dessus,	
  et	
  3)	
  satisfaire	
  les	
  exigences	
  
techniques	
  décrites	
  dans	
  la	
  section	
  démonstration	
  de	
  capacité	
  technique	
  et	
  opérationnelle.	
  Les	
  coûts	
  
devraient	
  inclure	
  les	
  coûts	
  fixes	
  et	
  les	
  coûts	
  variables.	
  
	
  
Pour	
  être	
  éligible	
  pour	
  une	
  notation	
  de	
  deux	
  points,	
  les	
  réponses	
  doivent	
  montrer	
  une	
  estimation	
  des	
  
coûts	
  prudente,	
  élaborée	
  sur	
  la	
  base	
  d’exemples	
  actuels	
  ou	
  d’opérations	
  de	
  registre	
  existantes	
  ou	
  
précédentes	
  ayant	
  des	
  approches	
  similaires	
  et	
  des	
  projections	
  de	
  croissance	
  ou	
  de	
  coûts	
  équivalentes.	
  	
  
Veuillez	
  joindre	
  les	
  documents	
  de	
  référence	
  pour	
  ces	
  exemples.	
  	
  
	
  
Une	
  réponse	
  complète	
  ne	
  devrait	
  pas	
  dépasser	
  les	
  10	
  pages.	
  	
  
	
  
(b)	
  Décrire	
  les	
  choix	
  anticipés	
  des	
  coûts	
  projetés.	
  Décrivez	
  les	
  facteurs	
  affectant	
  ces	
  fourchettes.	
  	
  	
  
	
  
Une	
  réponse	
  complète	
  ne	
  devrait	
  pas	
  dépasser	
  les	
  10	
  pages.	
  	
  
	
  
	
  
CLAUSE	
  DE	
  NON	
  RESPONSABILITE	
  :	
  Ce	
  document	
  est	
  émis	
  seulement	
  à	
  titre	
  d’information	
  et	
  ne	
  
représente	
  pas	
  toutes	
  les	
  exigences	
  et	
  les	
  critères	
  que	
  le	
  candidat	
  doit	
  satisfaire.	
  	
  L’ICANN	
  ne	
  fournit	
  pas	
  
de	
  conseils	
  juridiques,	
  financiers,	
  d’affaires	
  ou	
  autres.	
  	
  Ce	
  document	
  ne	
  représente	
  pas	
  une	
  modification	
  
du	
  Guide	
  de	
  candidature,	
  ou	
  encore	
  des	
  termes	
  et	
  conditions	
  du	
  	
  nouveau	
  programme	
  gTLD.	
  	
  Ce	
  
document	
  ne	
  doit	
  également	
  pas	
  représenter	
  une	
  dispense	
  à	
  tout	
  accord,	
  procédé	
  ou	
  politique	
  de	
  
l’ICANN.	
  	
  Dans	
  le	
  cas	
  où	
  les	
  informations	
  fournies	
  par	
  ce	
  document	
  ne	
  seraient	
  pas	
  cohérentes	
  avec	
  les	
  
informations	
  publiées	
  par	
  l’ICANN,	
  veuillez	
  ne	
  pas	
  en	
  tenir	
  compte	
  sans	
  la	
  confirmation	
  ou	
  la	
  clarification	
  
de	
  l’ICANN.	
  
	
  


